

COUNTY OF SAN DIEGO VOLUNTEER REPORT FORM PERIOD JULY 1, 2019 - JUNE 30, 2020

Deadline: July 17, 2020

1. DEPARTMENT INFORMATION:

Dei	partment:	

Health & Human Services Agency

Division/Unit:

PHS / Epidemiology & Immunizations Services Branch

2. VOLUNTEER PROGRAM BENEFITS:

a. GENERAL VOLUNTEERS (this section should include community volunteer, student intern, groups, corporations, etc).

No. of Vol. 6 Hours 454.5 X \$29.95 = \$13,612.28

Types of work performed by GENERAL VOLUNTEERS in this category:

- 1) Data entry and quality assurance review of communicable disease investigations for the Epidemiology Team
- 2) Clerical Assistance; data entry
- 3) HSHB Monitoring Electronic Lab Reports (ELR) from multiple laboratories; quality assurance review of incoming ELR reports; learning disease reporting procedures, surveillance system, program operations
- 4) Provided support by performing duties of a Health Information Management Technician, which was extremely beneficial to Epidemiology due to the extremely high workload generated by the COVID-19 public health crisis.

b. INSTITUTIONAL VOLUNTEERS (this section should include honor camp inmates, PIC/RETC, GAIN, etc.)

No. of Vol. 0 Hours 0 X \$29.95 = \$0.00

Types of work performed by INSTITUTIONAL VOLUNTEERS in this category:

c. SPECIALIZED VOLUNTEERS (this section should include utilization of Special Volunteers in positions requiring specific skills and/or expertise levels, for example, an attorney, physician, sports figure or celebrity). These specialized positions have verifiable compensation levels (VCL). If you have such a volunteer, please indicate the position, hours and compensation level below.)

Position			<u>Hours</u>	X	<u>VCL</u> =	Dollar Benefit
Physicians			263		\$110.00	\$28,930.00
Registered Nurse	es		194		\$50.00	\$9,700.00
						\$0.00
						\$0.00
						\$0.00
No. of Vol.	6	Total Hours	457	311	Total Value =	\$38,630.00

Types of work performed by SPECIALIZED VOLUNTEERS in this category:

- 1) Scripps Green Hospital Resource for COVID Investigators
- 2) Physician epidemiologist/UCSD Asst. Professor Shadowed COVID Investigator
- 3) School Nurse, Chula Vista Elementary School District COVID Investigations & CDI Scheduler for Sr. Epidemiologist Samantha Tweeten

d. TOTALS OF DEPARTMENT VOLUNTEERS (from above):

No. of Volunt	eers	<u>Hours</u>	Dollar Benefit
2a	6	454.5	\$13,612.28
2b.	0	0	\$0.00
2c	6	457	\$38,630.00
Total Vol.	12 Hours	912 Total Value =	\$52,242.28

3. DONATIONS TO VOLUNTEER PROGRAM:

4.

Please list all donations to the department's Volunteer program including monetary donations and <u>tangible/intangible</u> items. Items such as computers, air time, transportation, books, etc. Please assign a fair market value to each and add to the total value of the donations section.

market value to each and add to the total value of the dollations	section.
Item Donated:	Value:
TOTAL VALUE =	\$0.00
VOLUNTEER PROGRAM COSTS: a. Cost of supervision of volunteers (total hours of direct superv person (s) directly supervising program volunteers.)	ision multiplied by the hourly rate of staff
Supervisor 1 Hrs. 32 X Rate \$54.63 =	\$1,748.16
Supervisor 2 Hrs. 5 X Rate \$102.78 =	\$513.90
Total	\$2,262.06
preparation, volunteer placement, recognition, etc.) Hours 2 X Rate \$49.85 = c. Other program costs (volunteer training materials/supplies, recognition, etc.)	\$99.70 cognition costs, etc.):
	, ,
<u>Item</u>	Cost
Desktop Services for 5 vol. (\$61.54/month x 5 months)	\$1,538.50
Wireless Network Access for 5 vol. (\$66.68/month x 5 months)	\$1,667.00
Voice mail for 5 vol. (\$3.61/month x 5 months)	\$90.25
Email Services for 5 vol. (\$ 5.24/month x 5 months)	\$131.00
TOTAL OF OTHER PROGRAM COSTS =	\$3,426.75
d. TOTAL OF VOLUNTEER PROGRAM COST = (add 4a, 4b, and 4c)	\$5,788.51

5. NET BENEFIT TO DEPARTMENT FROM VOLUNTEER PROGRAM:

a. Total Dollar Benefits of Volunteers, Item 2d (Page 2)

\$52,242.28

b. Total of Donations to Volunteer Program, Item 3 (Page 2)

\$0.00

c. Subtract Total of Program Costs, Item 4d (Page 3)

\$5,788.51

TOTAL PROGRAM BENEFIT

\$46,453.77

6. **RECRUITING:**

Please describe your recruiting programs:

We work closely with local colleges and universities to seek out student volunteers or assist when requested to place volunteers. We have existing networks of intern placement points of contact at selected colleges and universities we work closely with. We ask retiring employees if they would like to return as a volunteer.

7. SPECIAL VOLUNTEER PROGRAM ACTIVITIES/ACHIEVEMENTS:

Please describe any special activities and/or achievements your program was involved in during the period of this report:

None

8. VOLUNTEER PROGRAM GOALS FOR FISCAL YEAR 2019-20:

Please describe your program goals. Include activities, number of volunteers, recruitment, training, recognition and other goals:

Our general goals are to:

- Onboard a few interns each year to assist us in surge disease reporting processing, quality assurance and surveillance projects.
- Maintain availability of analysts to assist in periods of peak workload.

9. GENERAL INFORMATION:

Name of person completing report:

Venus Zayas

Phone: (619) 542-4910

Mail Stop: P572

E-Mail:

venus.zayas@sdcounty.ca.gov

Volunteer Coordinator:

Caroline Mosher

Phone: (619) 542-4174

Mail Stop: P578

E-Mail:

caroline mosher@sdcounty ca gov

10. DEPARTMENT CERTIFICATION:

my fr many v

TIL O. 9 2020

DATE